UNIT 3.

THE SKELETAL SYSTEM

The skeletal system consists of bones, joints, ligaments, tendons
and cartilages. It serves many functions. It supports the body
and protects vital organs. It allows body movement and
provides the shape to our bodies. Also, it stores minerals and
produces blood.

Disorders of the skeletal system include fractures,
postural deformities (hyperkyphosis, hyperlordosis, scoliosis)
and many other skeletal conditions such as osteoporosis,
arthritis, rickets or osteomalacia.

The skeleton

The adult human skeleton is composed of 206 bones. It is
divided into two sections: the axial skeleton and the
appendicular skeleton. The axial skeleton consists of the skull,
the rib cage and the vertebral column. The appendicular
skeleton is made up of the upper limbs, the lower limbs, the
shoulder girdle and the pelvic girdle.

The skull consists of cranial bones and facial bones.
There are 8 cranial bones: the frontal bone, two temporal bones,
two parietal bones, the occipital bone, the sphenoid bone and
the ethmoid bone. These 8 bones comprise the cranium, which
protects the brain. The facial bones include the mandible, the
maxilla, the nasal bone and two zygomatic bones (commonly
called the cheekbones).

The rib cage contains 24 ribs arranged in 12 pairs. The
first seven pairs of ribs are connected directly to the sternum
(commonly called the breast bone). These ribs are referred to as
the true ribs. The next three pairs of ribs are called the false
ribs. These bones are not attached directly to the sternum, but
to the costal cartilage of the lowest true ribs. The last two pairs
of ribs, called the floating ribs, are unattached in front.

The vertebral column consists of 33 vertebrae. A single
bone is called a vertebra. The 33 vertebrae are divided into 5
regions: the 7 cervical vertebrae, 12 thoracic vertebrae, 5
lumbar vertebrae, 5 sacral and 4 coccygeal vertebrae fused
together to form the sacrum and the coccyx. The intervertebral
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appendicular skeleton /3 pan'dikjols
'skelitan/ — szkielet obwodowy

arthritis /a:'Graitis/ — zapalenie stawow

axial skeleton /aksial 'skelitan/ —
szkielet osiowy

breast bone /'brest bavn/ — mostek

carpal bone /ka:p®l baun/— kosé
nadgarstka

cartilage /'ka:talidz/ — chrzastka

cervical vertebra /'s3vik’l "vaitibra/ —
kreg szyjny

cheekbone /t[l:kbavn/ — kosé
peliczkowa

clavicle /'klevik’l/ — obojezyk

coccygeal vertebra /kok'sidzial
'vaitibra/ — kreg guziczny

coceyx /'koksiks/ — kos¢ guziczna

collarbone /kolabsun/ — obojezyk

costal cartilage /'kost’] 'ka:talidz/ —
chrzastka zebrowa

cranial bone /kreinial  baun/— kosé
mozgoczaszki

cranium /'Kremnism/ (pl. crania
/'kremia/) — mozgoczaszka

ethmoid bone /'e8maid _bavn/ — kosd
sitowa

facial bone /'feif*l ,baun/— kosé
twarzoczaszki

false rib /'fails rib/—zebro rzekome

femur /fi:ma/ — kos¢ udowa

fibula /'fibjula/ (pl. fibulae /fibjuliz/
fibulas /"fibjulaz/) — kosé

strzatkowa

floating rib /flavtiy rib/ — Zebro
wolne

frontal bone /frant’l baun/—kosé
czolowa

fused /fju:zd/ — zrosniety, zespolony

hip bone /'hip  bavn/ — ko$¢ miednicza
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discs, which are found between the vertebrae, allow the spine to
move.

The shoulder girdle, also called the pectoral girdle, is
made up of 2 bones, the clavicle and the scapula. The clavicle,
or the collarbone, is connected medially to the sternum and
laterally to the scapula. The scapula is commonly called the
shoulder blade.

The upper extremity is made up of the bones of the arm,
the forearm, the wrist and the hand. The arm consists of a single
bone called the humerus. The forearm contains 2 bones, the
radius and the ulna. The wrist consists of 8 carpal bones. The
hand is made up of 5 metacarpals and 14 finger bones referred
to as phalanges. A single finger bone is called a phalanx. Each
finger has three phalanges, except the thumb, which has two
phalanges.

The pelvic girdle is composed of two hip bones. Each hip
bone is made up of three fused bones: the ilium, the ischium
and the pubis.

The lower extremity is made up of the bones of the thigh,
the leg, the ankle, and the foot. The thigh contains one bone, the
femur, which is the longest and the heaviest bone in the body.
The leg consists of 2 bones, the tibia and fibula. The ankle is
composed of 7 tarsal bones. The foot contains 5 metatarsals and
14 phalanges. The toes, like the fingers, have three phalanges,
except the big toe, which has two phalanges.

EXERCISES

I. Answer the questions.

1. What is the function of the skeletal system?

. What conditions and disorders affect the skeletal system?
. Which bones does the cranium contain?

. What does the term “false ribs” mean?

. What are vertebrae? How are they divided?

. What does the appendicular skeleton consist of?

. What is the shoulder girdle composed of?

. What are phalanges? Where are they found?
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IL Decide whether the following sentences are true or false.
Correct the false ones.

1. The terms “pelvic girdle” and “pectoral girdle” are
SYynomnymous.

2. The sternum is found within the axial skeleton.

3. Each finger and toe has three phalanges including the
thumb and the big toe.

4. Each hip bone contains the ilium, the ischium and the
sacrum.

humerus /'hju:maras/ (pl. humeri
/hju:maralf) — kosé ramienna

ilivm [diam/ (pl. ilia /1lia/) — kosé
biodrowa

intervertebral disc / mta'va:tibral 'disk/
— krazek migdzykregowy

ischium /'iskiam/ (pl. ischia /'1skia/)—
kosé kulszowa

ligament /'ligamant’/ — wigzadlo
lumbar vertebra /'lamba 'va:tibra/ —
kreg ledzwiowy

mandible /mandib®l/ — zuchwa

maxilla /mek'sila/ (pl. maxillae
/mek'silii/) — szezeka

metacarpal /meta'kaip™l/ — kos¢
srodrgcza

metatarsal /meta'ta:s’l/ — kosé
srodstopia

nasal bone /'neiz’l baun/ — kosé
nosowa

occipital bone /ok'sipit’l baun/ — kos¢
potyliczna

osteomalagia / pstisuma'leifia/ — roz-
micknienie kosci, demineraliza-
cja kosci

osteoporosis / pstiaupai'rausis/ —
osteoporoza

parietal bone /pa'raiat’l baun/ — kosé
ciemieniowa

phalanx /'felegks/ (pl. phalanges
/fa'lend3i:z/) — paliczek

pubis /'pju:bis/ (pl. pubes /'pjusbiz) —
kos¢ tonowa

radius /'rerdias/ (pl. radius /rerdiay/,
radiuses /'reidiasiz/) — ko$é pro-
migniowa

rib cage /'nb keidz/— klatka piersiowa

rickets /'mkits/ — krzvwica

sacral vertebra /setkral 'vs:tibra/ —
kreg krzyzowy

sacrum /'seikram/ (pl. sacra /'setkra/) —
kosc krzyzowa

scapula /'skapjula/ (pl. scapulae
/'skepjoli/, scapulas
/'skapjulaz/) — topatka
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5. The cranium contains two parietal bones and two occipital

bones.

6. There are five metatarsal bones in each hand.

III. Complete the sentences with the appropriate anatomical
terms.

1.

L.

A

The bones of the forearm include the

andthe .....ooooviiiiiii
. The bones of the ankle and the foot comprise the .........

the

referredtoasthe ........cooveieiiinils
. The vertebral column is made up of 7

vertebrae, 12

andthe .......cooviiiiiiiiii
. The leg is composed of the
andthe ..o,
. The term “shoulder blade” is given to the

vertebrae,
vertebrae and
vertebrae.

V. Replace the terms with their medical equivalents.
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thigh bone

. shoulder blade
. collarbone

. cheekbone =
. finger bone =
. lower jaw

. breast bone

. central skeleton

shoulder blade /![aulda blemd/—
topatka

skull /skal/— czaszka

sphenoid bone /'sfi:nord | baon/ — kosé
klinowa

sternum /'sta:nam/ (pl. sterna /'sta:na/)
— mostek

store /sto:/ — przechowywac, maga-
zynowac, skladowac

tarsal bone /a:s°l baun/ — kosé stepu

temporal bone /temp’ral baun/ — kosé
skroniowa

tendon /tendan/— sciggno

thoracic vertebra /Ga:'reesik 'va:tibra/ —
kreg piersiowy

tibia /'tibia/ (pl. tibiae /"ibiii/, tibias
Itibiaz/) — kos¢ piszezelowa

true rib /'tru: b/ —zebro prawdziwe

ulna /alnaf (pl. ulnae xlnii/; ulnas
"alnez/) = kos¢ fokciowa

vertebra /'vaitibra/ (pl. vertebrae
['vaitibrei/, vertebras /'va:tibraz/)
—kreg

vertebral column /'vaitibral 'kolam/ —
kregostup

zygomatic bone / zaigav'metik baun/
— koS¢ jarzmowa



